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Surface Area of a Right Cylinder

Quick Review

» To find the surface area of this cylinder:

6 cm

5¢cm

Sketch the net. e

Surface area = 2 X area of one circle + area of the rectangle
The area of the circle is A = 7
Substitute r = 6.

A= X6
= 113.10
The area of the rectangle = circumference X height

=2mr X h
Substitute r =6 and h = 5.
The area of the rectangle =27 X 6 X 5
= 188.50
Surface area = 2 X 113.10 + 188.50
=414.70
The surface area of the cylinder is about 415 cm®,

1. Determine the area of each net, to the nearest square centimetre.

a) 4 cm Area of net = 2 X area of one circle
+ area of the rectangle

=2Xar+2narXh

12 cm
=2XmTX _4*+2X7X_4 X_12
som = 4021
The area of the net is 402cm’ | to the nearest square centimetre.
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8cm
The area of the net is __ 1407 cm* | to the
20 cm nearest square centimetre.
8cm
C
) 16 cm
2cm 2cm

The diameter of each circleis _2cm | so the radius of each circleis 1cm

The area of the net is 107 cm’ , to the nearest square centimetre.

2. Calculate the surface area of each cylinder, to the nearest square unit.

a) radius 8 cm, height 12 cm

Surface area of cylinder = 2 X area of one circle
=2Xar*+2wrX h

area of the rectangle
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The surface area is 1005cm® _, to the nearest square ___centimetre |

b) diameter 9 m, height 6.8 m
The diameter of each circle is _9m | so the radius of each circleis 4.5m |,

The surface area is __319m’ , to the nearest square ___metre .

¢) diameter 7.2 cm, height 9.3 cm
The surface area is ___ 292 cm® | to the nearest square centimetre |

3. Calculate the outside surface area each cylinder, to one decimal place. The cylinders are
open at one end.

N
7m

«—>
15m

The diameter is __15m | so the radius is

Surface area of cylinder = area of circle + area of the frectangle

=mr+2wrXh
=aX_T75 *+2XaX |75 X _ 7
= __ 506.6 |
The surface area of the cylinder is 506.6 m’® , to one decimal place.
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The diameteris ___48cm | so the radiusis __24cm

The surface area of the cylinder is 364.9 cm’ , to one decimal place.

4. Cylindrical rollers are used in a steel mill. One roller has diameter 1.8 m and length 2.6 m.
What is the area of the curved surface of the roller?

The diameteris __ 1.8m | so the radiusis ___0.9m

Curved surface area of roller = area of the rectangle
| =2mr X h
=2X X 09 X 26
= 294

The area of the curved surface of the rolleris ___14.7m’ __ to one decimal place.

5. A cylinder with no top and no bottom has an outside surface area of 377 cm®. The height
of the cylinder is 10 cm.

a) What is the circumference of the base of the cylinder?

Curved surface area of cylinder = circumference X height

377 = circumference X __10

37.7 = circumference

The circumference of the base is 37.7cm

b) What is the radius of the base of the cylinder?
Circumference of base =27 X r
37.7 =27 Xr

, = 377
Y
r= 6.00

The radius of the baseis __6cm .
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